Math 130 Spring 2008 Name:

QUIZ #1 @ 85 points

Write neatly. Show all work. Write all responses on separate paper. Please write only on one side and clearly label

the exercises.

1) Solve the following equation by the square root property. Give exact answers. (2x + l)2 =24

2) Solve the following equation by the quadratic formula. Give exact answers.

a) 3—i—%=0
X x

b) 2x* =3x+1=0

: 2x-5 -2
3) Solve the following equation. Write anyrestrictions that might apply. rTo X 3
< x
2 x—2 .
4) f(x):2x —3x+1, g(x)=3 0 . Find the following:
- X+
a) The domain of fand g.
b) Find f(-x), f(a+h),and g(2x).
5) A ball is thrown straight up into the air. The function defined by . o ‘
y= h(t) gives the height of the ball (in feet) at ¢ seconds. Height ofa Thrown Ball
.
a) What is the height of tae ball after 2 seconds? A - L i .
256 - -
b) When will the height be 192 feet? 240 A
I & 3 ]
¢) During what time intervals is the ball going up? = 102 T '%J{
Down? ~ g g
= ; 3
= 128 A
d) How high does the ball go, and when does the ball =
reach =
its maximum height? 64 1]
¢) Athow many seconds does the ball hit the ground? % g %_’P ,
L - L

Time ¢in secondsy
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